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TH7EE mREBRIMBERFRNHGAE(BR)

A X R R X T ER BT RS ATIERE X 75 No.1

E {ffiNo. £ FR B =X ]

1 BETMNILTYT EE ME X

2 BIEFNILATVTEE NH 70W

3 BETMNILTYT EE NH 110w (RHEMHE)

4 BIEFNILATVTEE NH 180W (RFdmi)

5 BETMNILTVT ERE NH 220w (R&FmE)

9 RERIME BETNIL) MHZEA

20 BETNILIVTERE REFRIME |MHXE

33 LEDS>F I (LEDSA /L TKEFE, LEDSA b/ \LT SEFEHE L)

34 LEDS> T LEDSA r/SLTK(HF80~100W) Y ERHSD

35 LEDS>F LEDS A/ NJLTK(HF200W/NH110) 18 ERE=T

36 LEDS> T LEDSA /N JLTK(HF250W/NH110) 18 EREEST

37 LEDS>F LEDS A/ JLTS(HF200W/NH110) 18 ERE=T

38 LEDS> T LEDSA/NJLTS(HF250W/NH110) 18 EREEST

39 LEDS>F LEDS A/ JLTS(HF300W/NH150) 18 EREF=T

40 LEDS> T #HFZH# (LEDS> F 1= (KCE050-2, KCE070-2, KCE100-2) #H2)

41 LEDS>F LEDS> 71 =wyh(KCE050-2)#Y TEFE1=whED

42 LEDS> T LEDS> 71 =wh(KCE070-2) Y TFE1=-vrED

43 LEDS>F LEDS> 71 =yh(KCE100-2) Y FFE1=-whaD

48 HE AR 100V.”3A

49 HERARFRE 200V./10A

50 R—ILARY I RERE INEITATA MCB2P EVimF &+ SB-502L1E%

51 ZeIL—HIE 110V./220V 2P2E

52 SIARTEER 8mni x 2C

54 HIRRATIEZ - B HEKX7—LE(BIAHY)

55 BIRR AT - B A HEKT7—LE(BFIALZL) TE-7—LX#E

56 BIERITHRE HEKXT7—LE(BRAHY)

57 HIRRATHE HBEX7—LE (BRAZL)

58 TR AT ER AT HEKT—LE (TE-7—LXE

61 BIRR AT - B A HEXT7-LBRHAFEOH (BFAHY)

62 HIRRATIEZ - B HEKX7—LEBHABEOAH (BFALGL) ITEXE

63 HIRRATHE HEXT7-LBRHAFZEOH (BFAHY)

64 BIERITHE HEKXT7—LEBEAZEOH (BRI ALGL)

65 HTERAT B 4 HEKXT7-LBERBAREOH TEXHE

67 BIERATHIE - BT HEKXT7—LLAR(BIAHY SATER)

68 BIRR AT - B A HEKXT7-LLRAE (BRAHY SFER)

69 HIRR AT - B HEXT7—LLZE (BAALZL SHFAER ITEXS

70 BIRR AT - B A HEKXT7—LLRAE (BRALGL SAER ITEXE

7 BIERITHRE HEKXT7—LLAR(BIAHY SFATER)

72 HIRRATHE HEKXT7-LLAE (BRAHY SFER)

73 HIRRATIE HEKX7—LLRE (BFIALZL SFAFER)

74 HIRRATHE HEXT7—LLAE (BRALZL SEER)

75 HTERATER AT HEX7—LLRE (GFRTER) ITEX

76 HIRR KT HR At HEKXT7—LLRAE (SFER) TEXH

81 TRATWHIE ERTEREERA
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82 FRIAEHE ERERERER
83 HEAE AR TERE BEME- AROETR KRBESEEHRELO
84 EEES LIS EEEFSLIT-BABREARGESAEX
86 BRI T E#R8mA—X K 350kg LA T Hifh
87 E AT AT BEHR10m~R—2 K 350kg A T EH
97 avHY—hEER 8m
99 aVY)—bERE 8m (BFIA%EL)
101 AV —rERE-ER 8m (BFIA%EL)
102 aVY—MEEE 10m
104 aVo—hERE 10m (BRALL)
106 aVY)—MERE - ER 10m (BFIA%EL)
112 B IR REALT R BARR B AR AT ME X
113 PR EREALT R B 3R EL AR KCE050-2-KCE050-2C ZEZ#AE
114 B IR REALT R BARR B AR AT KCE050-2-KCE050-2C 1 F#AE
119 EREIATRARERE BAAHY
120 EIRRIATRBARERHE BRALGL
121 EREATHEARERE-RE |[BFAHY
122 EREATHEARERE-RE |[BRALGL MHXHE
125 HEBTOvIHRE 50000 x 1700 #EMTEEL
127 EBEITOvIHRE 50000 x 2100 EMTEESD
133 T T (EEIOVIRE) 50000 x 1700 &HERIBED
135 T T (EBEIOVIERE) 50000 x 2100 #HERIEED
140 TIT(EBEIOVIEE) 50000 x 2100 #HEEIBSD
147 AR S EREE BERLL
149 B SBREE BEALL
150 EREIEYRE ERTE (REHRKRO1tHY
151 EEEIEYNE REHFILAY
152 EEREIEDLE HAEEILHY
155 EEEIEYNE FARAI7ILEER1tHY
164 BISHE R RV B MER 20.0kmEL T, L —2 B H2t8k. BEEH2.9t. DDRREAY. 114y
166 TSR E MR UG MAER 275km T, YL —> S B f2thk. BEEN29t DDRAAFY. 1ty
172 T RAI7 LR E 240kmELT, 4% Hﬁﬁ&ﬁ#kmﬁ;_ 1mZy
178 RBFEERE M EUA RIBTEBR BB RS - LRI
179 RBFEERE TR UAR TR BRI ERIRH H AR A TR
180 RBFEERE THMRUVARZESATERE AAIKEBITHRE
184 REREE =i #REREF BE EB/HA
185 RN E = #REREE ®E B/HA
186 REREE 4ata=vwy BEEEEE BE EBE/3A
187 RN E 4ta=vyy BBHEEEE ®RE B/38




BEFFIYLSYTIE (SLTXE)

No 1
% # i) X | B | HKE|BE OB £ %8 i E:3
M M ZIE 2 1
BT A 0.09 RBEIATERERERELEE (ERER)
TRERE A 0.04 IXBEIARIFRERFEEE (EREER
I8 FHE
SRTEXE H 0.72 TRITEHIH
&t
Z Dt =X 1 FHIHEED25%
EEIRE
HiBIREK = 1 NHEETEHBEREEE EEIFEDI0%
WMIER
RiGEERE = 1 NHEETEHARERFTEE MIEED291%
T ER{
REEE = 1 NHEETRHBEEREEE TERMD17.49%
T E{fitg




SEFRIDLSOTERE (NH70W)

No 2
% # i) X | B | K= (B @ € %8 i E:3
Sv7 NH70W (HE5EY) & 1 EEMTEP617 x 1.02
BT A 0.09 EXrR@d L ATEFRERFEES (EXRIER)
TRERE A 0.04 IXBEIARIFRERFEEE (EREER
Ix%E FHE
SRTEXE H 0.72 TRITEHIH
&t
Z Dt =X 1 FHEED25%
EEIRE
HiBIREK = 1 NHBEETEHBERETELE EETIEED30%
WMIER
RiGEERE = 1 NHEETEHABEREELE MIEED2291%
T ER{
e g = 1 NHEETRHBEEREEE TERMD17.49%
T E{fitg




FH =

REMESEFN)VLZUTERE (NH110W)
No 3
% 3 i) X | B | K= (B @ € 8 i E:3
Sv7 NH110W(R FdE) & 1 b E s ER AR B % 1.02
BT A 0.09 EXrR@d L ATEFRERFEES (EXRIER)
TRERE A 0.04 IXBEIARIFRERFEEE (EREER
Ix%E FHE
SRTEXE H 0.72 TRITEHIH
)
Z Dt = 1 FHEED25%
EEIRE
HiE R = 1 NHBEETEHBERETELE EETIEED30%
WMIER
RiGEERE = 1 NHEETEHABEREELE MIEED2291%
T ER{
e g = 1 NHEETRHBEEREEE TERMD17.49%




FH =

REMESEFN)VLZUTERE (NH180W)
No 4
% 3 i) X | B | K= (B @ € 8 i E:3
Sv7 NH180W(K FfiEY) & 1 b E s ER AR B % 1.02
BT A 0.09 EXrR@d L ATEFRERFEES (EXRIER)
TRERE A 0.04 IXBEIARIFRERFEEE (EREER
Ix%E FHE
SRTEXE H 0.72 TRITEHIH
)
Z Dt = 1 FHEED25%
EEIRE
HiE R = 1 NHBEETEHBERETELE EETIEED30%
WMIER
RiGEERE = 1 NHEETEHABEREELE MIEED2291%
T ER{
e g = 1 NHEETRHBEEREEE TERMD17.49%




FH =

REMESEFTN)VLZUTERE (NH220W)
No 5
% 3 i) X | B | K= (B @ € 8 i E:3
Sv7 NH220W(& FdiEY) & 1 b E s ER AR B % 1.02
BT A 0.09 EXrR@d L ATEFRERFEES (EXRIER)
TRERE A 0.04 IXBEIARIFRERFEEE (EREER
Ix%E FHE
SRTEXE H 0.72 TRITEHIH
)
Z Dt = 1 FHEED25%
EEIRE
HiE R = 1 NHBEETEHBERETELE EETIEED30%
WMIER
RiGEERE = 1 NHEETEHABEREELE MIEED2291%
T ER{
e g = 1 NHEETRHBEEREEE TERMD17.49%




REHRDE (SETMIL) HMHHE

No 9
5 i) X O| B M| K E B O] £ % tié -3
i3] MMXHE = 1 B R MIfiP615
ET A 0.14 ELXBEIATEEERETELEE (BRBER
TEEXE A 0.07 ErXBELATERERTRLEE (ERAER)
Ix® FHEE
P2 AN H 1.12 TARITEHE®
&t
Z Dt = 1 HHEED25%
EEISE
HBRHE = 1 NHBEETEHABEBERE EERISZTED30%
MIEH
RSEERE = 1 NHBETEHBEBRAE HIFED2291%
TE[R{
—REEE = 1 NHBETEHBEBRAE ITFERMD17.49%
TE{mH%
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No 20
o i) X O| B M| K E B O] £ % 1t -3
7 LZEES X & 1 HMDH
REHR M X HE & 1 MDA
ET A 0.23 EtRBELIAIFEEREELEZ (BREER)
TEEXE A 0.11 EXRBEIATIEREBRTAEZ (BERRER
Ix® FHEE
=FTERE H 0.72 TARIFESM
&t
Z Dt = 1 HHEDN25%
EEIRE
HiBEREE = 1 NHBEETEHABEBERE ERISZTED30%
MIEH
RSEERE = 1 NHBETEHBEBRAE HIFED2291%
TE[R{
—REEE = 1 NHBETEHBEBRAE ITFERMD17.49%

TE{f#%




LEDS>Y T (#M ¥ % #5 (LEDSA NIV TKEFE, LEDSA M NLTSKFERY))

No 33
% i) = B | %E (B il £ ]
LEDS> %;E‘féo;; EIEI?)D;; ://\\;f,bj 1@ 1 M DH
SEIBHELY)
BT A 0.32 ErREETIATIEREBREALE(E
LEEXE A 0.15 ErREETIATIEREBRRALE(E
IE%E FHBEEH
ERTERE H 0.72 TARIFEI
&t
Z Dt 2 1 FHEED25%
EEISE
#HBREE = 1 NHEETEHBEREEE ERIFEDI0%
MIEE
RiGEEE = 1 NHEETEHABEREEE MIFED2291%
TER
—REEE = 1 NHEETEHABEREEE ITFRMED17.49%

TE{f#%




LEDS> 7 (LEDSA /N JLTK(HF80~100W) F ) EEER ST

No 34
% FR it 2 B | ®BEE @ £ ] i =
LEDS> T iﬁ%ﬂ)@é%%%zg & 1 BERYMP617-FEEEMPTI1F 1 x 1.02
BT A 0.32 ErREEIATIEREBFRALEEZ (EREREH
LTREXE A 0.15 EXRBEIAIEREBRTAEZ (BERRER
IEE FHER
ERTERE H 0.72 TARIFEI
&t
Z D1t 2 1 FHEED25%
EEISE
#HBREE = 1 NHPETEHBEERETEE EEIRED30%
MIEE
BinEEE = 1 NHEETEHBERETEE MIBED2291%
TER
—RERE = 1 NHEETEHBEREEE TERMED17.49%

TE{f#%




LEDS> 7 (LEDSA k7N )LTK(HF200W/NH110) A8 ) ERER &

No 35
% FR i 2 B | E|BE @M £ 2 i 7
LEDS> T A G I 1 RBEMIEP617- HEEHPII T x 102
BEL A 0.32 ErXBE L ATERERTRLEE (ERAER)
TEEXE A 0.15 ErXBE L ATERERTRLEE (ERAER)
IX%E FHEE
EF{EXE H 0.72 T ARITEESM
&t
Z Dt = 1 HHBED25%
EEIEE
HBREE = 1 NHABETEHABERFTEE BEREIEEDI0%
MIEE
WG EEE = 1 NEABETEHABERFTEE MIFED2291%
TERfE
—REEE = 1 NHABETEHABREREFTEE THRMD17.49%

TE{f#%




LEDS> 7 (LEDSA R/NJILTK(HF250W/NH110) 484 EEER &

No 36
% FR i 2 B | E|BE @M £ 2 i 7
LEDS> T i | 1@ 1 RBEMIEP617- HEEHPII T x 102
BEL A 0.32 ErXBE L ATERERTRLEE (ERAER)
TEEXE A 0.15 ErXBE L ATERERTRLEE (ERAER)
IX%E FHEE
EF{EXE H 0.72 T ARITEESM
&t
Z Dt = 1 HHBED25%
EEIEE
HBREE = 1 NHABETEHABERFTEE BEREIEEDI0%
MIEE
WG EEE = 1 NEABETEHABERFTEE MIFED2291%
TERfE
—REEE = 1 NHABETEHABREREFTEE THRMD17.49%

TE{f#%




LEDS> 7 (LEDSA k7))L TS (HF200W/NH110) B BRI ST

No 37
% FR i 2 B | E|BE @M £ 2 i 7
LEDS> T PN Al I 1 RBEMIEP617- HEEHPII T x 102
BEL A 0.32 ErXBE L ATERERTRLEE (ERAER)
TEEXE A 0.15 ErXBE L ATERERTRLEE (ERAER)
IX%E FHEE
EF{EXE H 0.72 T ARITEESM
&t
Z Dt = 1 HHBED25%
EEIEE
HBREE = 1 NHABETEHABERFTEE BEREIEEDI0%
MIEE
WG EEE = 1 NEABETEHABERFTEE MIFED2291%
TERfE
—REEE = 1 NHABETEHABREREFTEE THRMD17.49%

TE{f#%
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No 38
% FR i 2 B | E|BE @M £ 2 i 7
LEDS> T s e 1@ 1 RBEMIEP617- HEEHPII T x 102
BEL A 0.32 ErXBE L ATERERTRLEE (ERAER)
TEEXE A 0.15 ErXBE L ATERERTRLEE (ERAER)
IX%E FHEE
EF{EXE H 0.72 T ARITEESM
&t
Z Dt = 1 HHBED25%
EEIEE
HBREE = 1 NHABETEHABERFTEE BEREIEEDI0%
MIEE
WG EEE = 1 NEABETEHABERFTEE MIFED2291%
TERfE
—REEE = 1 NHABETEHABREREFTEE THRMD17.49%

TE{f#%




LEDS> 7 (LEDSA k7N LTS (HF300W/NH150) 4B ) & EER &5

No 39
% FR i 2 B | E|BE @M £ 2 i 7
LEDS> T e e | 1@ 1 RBEMIEP617- HEEHPII T x 102
BEL A 0.32 ErXBE L ATERERTRLEE (ERAER)
TEEXE A 0.15 ErXBE L ATERERTRLEE (ERAER)
IX%E FHEE
EF{EXE H 0.72 T ARITEESM
&t
Z Dt = 1 HHBED25%
EEIEE
HBREE = 1 NHABETEHABERFTEE BEREIEEDI0%
MIEE
WG EEE = 1 NEABETEHABERFTEE MIFED2291%
TERfE
—REEE = 1 NHABETEHABREREFTEE THRMD17.49%

TE{f#%




LEDS > T A=y #MEZ)

No 40
£ R i) = B M| &% E|BE OB £ ] i =
LEDS>Ta1=yhk %Eﬁo()»f}c(ég?oa—;ige T 1 HWMDOH
070-2, KCE100-2) 8 %4)
BT A 0.32 ErXBE L AT ERERTRLEE (ERAER)
LTBEEXE A 0.15 ErXBELATERERTRLEE (ERAER)
I%%® FHHEE
=FTERE H 0.72 TARIFESM
it
Z Dt = 1 HHEDN25%
EEISE
HBERZRE = 1 NHABETEHABERFTEE BEREIEEDI0%
MIE®
RIGEHE = 1 NEABETEHABERFTEE MIEED2291%
TER
—REEE = 1 NHABETEHABEREFTEE THRMD17.49%
TE{mH%




LEDS > 7 (LEDSY T 1=y MNKCE050-2) # ) EBE1L=wrET

No 41
% # i) | B | % E (R M| 2 i
LEDSLF 1=k gﬁ?%ﬁﬁ @ | B IEP 17 T E EHPTI T4 X 1.02
BT A 0.32 EtEE T AT SEERELLE (BLAER)
BEELE A 0.15 EtE4 T AT SEERELLE (BLAER)
IEE SR
ESATERE H 0.72 TARITEE(H
it
Z D fih =X 1 FHBEED25%
EEIEE
HBRRRE = 1 AHBETEABRMERE EETEED390%
MIEE
RISEEE = 1 AHBETEABRMERE HIFED291%
T =R
—pEE = 1 AHBETEABRMERE TERMD1749%

TE{f#%




LEDS > 7 (LEDS > 7 1=vwhKCE070-2) A EEAI=VFEL

No 42
% # i) | B | % E (R M| 2 i
LEDSLF 1=k gﬁ?%’ﬁﬁcﬁ @ | B IEP 17 T E EHPTI T4 X 1.02
BT A 0.32 EtEE T AT SEERELLE (BLAER)
BEELE A 0.15 EtE4 T AT SEERELLE (BLAER)
IEE SR
ESATERE H 0.72 TARITEE(H
it
Z D fih =X 1 FHBEED25%
EEIEE
HBRRRE = 1 AHBETEABRMERE EETEED390%
MIEE
RISEEE = 1 AHBETEABRMERE HIFED291%
T =R
—pEE = 1 AHBETEABRMERE TERMD1749%

TE{f#%




LEDS> T (LEDS YT 1 =vwhKCE100-2) ) EEI=VFEE

No 43
% # i) | B | % E (R M| 2 i
LEDSLF 1=k gﬁ?%ﬁc\i @ | B IEP 17 T E EHPTI T4 X 1.02
BT A 0.32 EtEE T AT SEERELLE (BLAER)
BEELE A 0.15 EtE4 T AT SEERELLE (BLAER)
IEE SR
ESATERE H 0.72 TARITEE(H
it
Z D fih =X 1 FHBEED25%
EEIEE
HBRRRE = 1 AHBETEABRMERE EETEED390%
MIEE
RISEEE = 1 AHBETEABRMERE HIFED291%
T =R
—pEE = 1 AHBETEABRMERE TERMD1749%

TE{f#%




BEmiREsERE (100V.73A)

No 48
5 i) X | B | K E|E M| £ % 1t -3
EEII-VES 100V3A I)—F % & 1 BRYIEP614
ET A 0.10 EtRBELIAIEEEREELEZ (BREER)
TEEXE A 0.05 EXRBEIAIEREBRTAEZ (BERRER
Ix® FHEE
=FTERE H 0.80 TARIFESM
&t
Z Dt = 1 HHEEDN25%
EEISE
HBRHE = 1 NHBEETEHABEBEAE ERISZTED30%
MIE®
RSEERE = 1 NHBETEHBEBRAE HIFED2291%
TE[R{
—REEE = 1 NHBETEHBEBRAE ITFERMD17.49%
TE{mH%




BE miRzsENE (200V.710A)

No 49
5 i) X | B | K E|E M| £ % 1t -3
EEII-VES 200V10A J—R# & 1 BRYIEP614
ET A 0.10 EtRBELIAIEEEREELEZ (BREER)
TEEXE A 0.05 EXRBEIAIEREBRTAEZ (BERRER
Ix® FHEE
=FTERE H 0.80 TARIFESM
&t
Z Dt = 1 HHEEDN25%
EEISE
HBRHE = 1 NHBEETEHABEBEAE ERISZTED30%
MIE®
RSEERE = 1 NHBETEHBEBRAE HIFED2291%
TE[R{
—REEE = 1 NHBETEHBEBRAE ITFERMD17.49%
TE{mH%




R—ILARR YO REE BT MCB2P #EVYifFE 4T SB-502LH%)

No 50
% FR it 2 B | E|BE @M £ ] i =
R— L ARV R R A e I i T KR BT & P44 X 1.02
BT A 0.316 NHABETEREHMBEEEP180
IEE FHER
&t
Z Dt 2 1 HHEEDN25%
EEISRE
#HBREE = 1 NHBEETEHABEBEAE ERISZTED30%
MIE®
RSEERE = 1 NHEETEHBEREEE MIBED2291%
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—RERE = 1 NHEETEHBEREEE TERMED17.49%
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No 51
%fr\ i) X | B | K E (B @ £ ] i 3
JL—h— 2P2E100V/200V 30A 25kA | {H 1 EERYIEP598
BL A 0.10 EXREBEIARATIFFEFRFELEEZ (ERIRER RRBRIBHESL
LTREXE A 0.05 EXREBEIATIFFEFFELEEZ (BERIRER RRBRIBHES
IE%E FHBEE
A AN H 0.80 TARIEHE
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Z Dt 2 1 HHEEDN25%
EEISRE
HBERHZE = 1 NHEETEHBEREEE ERIFEDI0%
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—REEE = 1 NHEETEHBEREEE ITRRMED17.49%
TH{fi4g
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No 52
5 i) X | B | K E|E M| £ % 1t -3
ET A 0.675 EtRBELIAIEEEREELEZ (BREER)
Ix® FHEE
=FTERE H 20 TARIFESM
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32k = 1 HHEEDN25%
EEISE
HBREE =X 1 NHABETEHABERFTEE BEREIEEDI0%
MIE®
RSEERE = 1 NHBETEHBEBRAE HIFED2291%
TE[R{
—REEE = 1 NHBETEHBEBRAE ITFERMD17.49%
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No 54
i B = B | E|BE @M £ 2 i =7
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No 55
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—REEE = 1 NHABETEHABEREFTEE THRMD17.49%
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No 56
% FR i Y B | E|BE @M £ 2 i =7
BT A 0.41 LR AT ERERE
TBEEXRE A 0.21 LR AT ERERE
Ix® FHEE
=FTERE H 0.9 TARIFESM
&t
Z Dt = 1 HHEEDN25%
EEISE
HBRHEE = 1 NHEETEHABEREEE EEISZTED30%
MIEE
RSEERE = 1 NHBETEHBEBRAE HIFED2291%
TE[R{
—REEE = 1 NHBETEHBEBRAE ITFERMD17.49%
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No 57
o i) X | B | K E|E M| £ % 1t -3
BT A 0.205 LR AT ERERE
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I%%E FHEE
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Z Dt = 1 HHEEDN25%
EEISE
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